


In the question given below, a sentence 

is given, divided into parts. One of the 

parts may contain an error. Identify the 

part that contains the error and mark it 

as the answer. Ignore errors of 

punctuation, if any. In case the sentence 

is correct as it is, mark option (e), that is, 

'No error' as your answer.



1. Heightened geopolitical and economic 

2. uncertainty pushed the central 

3. banks to diversify there reserves and 

4. focus on investing in safe and liquid 

assets, 

5. No error



1. The aggrieved party 

2. has applied to the authorities 

3. requesting for a transfer of his case 

4. with immediate effect. 

5. No error



1. I was surprised to see that 

2. Both Rajeev as well as Rahul were 

fully 

3. prepared to deliver the biggest 

4. and most important speech of their 

lives 

5. No error



1. Our Grammar teacher's 

2. eight-years-old daughter got 

3. into the list of world's most 

4. intelligent kids and she is at number 

10

5. No error



In the following sentence, four words 

given in bold are marked as (A), (B), (C), 

and (D), which are possible pairs to be 

interchanged. Choose the pair(s) of 

words that need to be interchanged to 

make the sentence grammatically 

correct and meaningful. If no interchange 

is required, mark option 5 i.e., "No 

interchange required" as your answer.



Technological advancements, including 

robotics (A), AI, and automation, have 

tasks (B) Accounting by automating 

revolutionized (C) like data entry, 

enhancing efficiency, and cutting labour

expenses. (D)

1. B-C

2. A-D, B-C

3. B-D

4. C-A

5. No interchange required



The government must (A)standardization 

to ensure the (B)intervene and quality 

control of connected consumers' devices 

and go (C)beyond the present quality

(D)checks and balances in the 

(E)interests of consumers.

1. A-D and B-C

2. B-E and C-D

3. C-E

4. A-B

5. A-E



The (A)growth for connected consumers’ devices in 

2020 will be (B)masses by cellular and Wi-Fi 

connectivity to consumer electronics for mass markets 

making (C)several ‘luxury’ products (D)available to the 

(E)driven during the year.

1. D-E

2. B-E

3. C-D

4. A-B and C-E

5. A-C and B-D



In the sentence given below, four words 

have been highlighted. Identify the 

correct sequence of the words in the 

sentence. Also, one of the highlighted 

words does not fit the context of the 

sentence and will need to be replaced. 

Identify the correct sequence and 

replacement and mark that as your 

answer.



A viable fledgling (A) to their billion-year-old, naturally-formed 

conscious (B) mined from the depths of the earth, lab-grown 

diamonds are now getting more popular with counterparts (C) 

consumers, requisite (D) jewelry brands, and even some 

traditional diamond firms.

1. CDEA, A - professional

2. ACBD, B - apprehensive

3. DCBA, D - alternative

4. ABDC, C - duplicates

5. No rearrangement is required



In the following questions,a part of the 

sentence (a word or phrase ) has been 

highlighted in bold.Four different ways of 

writing the phrase or word has been 

given in the options(1), (2) ,(3)and (4). 

Find the correct replacement of the 

given word or phrase.If the given word 

or phrase is not correct,then select 

option (5) None of these as your answer.



After a session conducted by FDA last year to raise 

awareness about healthy food habits, neither the 

students or their parents are objecting to the major 

changes in food menu.

1. food habits neither the students nor their parents .

2. food habits of neither the students nor their 

parents. 

3. food habits neither the students nor there parents .

4. food habits  the students or their parents .

5. None of these.



A comedian analyzes the mundane from a variety 

of angles and find the thread among two points.

1. finds the thread among two points

2. found the threading among two points

3. finds the thread between two points

4. finding the thread among two points

5. found the threading between two points



TISS Scholar Fahed Ahmad has been issued a show case notice for 

leading an anti-CAA protests and has become Mumbai 's face of anti-CAA 

protests and had attended several rallies across the country.

1. face of anti-CAA protests and has attended several rallies across the 

country.

2. face of anti-CAA protests and have attended several rallies across the 

country.

3. face of anti-CAA protests and was attend several rallies across the 

country.

4. face of anti-CAA protests and  has attending several rallies across  

the country.

5. None of these.



India being at enmity without China 

weakens not only the Asian economy but 

also the global economy as a whole.

1. being at enmity without China

2. be at enmity without China

3. be at enmity within China

4. being at enmity with China

5. being at enmity within China



Below a word is given followed by three 

sentences which consist of that word. 

Identify the sentence/s which best 

expresses the meaning of the word. 

Choose option 5 (None of these) if the 

word is not suitable in any of the 

sentences.



EXCEPT

A. We now except cell phones and laptop computers as 

commonplaces of everyday life.

B. The stock market has continued to rise, except for a 

slight hiccup earlier this month.

C. We are willing to offer a small honorarium that we 

hope you will except for judging the competition.

1. Only A

2. Only B

3. Only C

4. Both B and C

5. None of these



COMPLEMENT

(A) I was flattered by his complement.

(B) The soft music was the perfect complement to fine 

food.

(C) At this moment we have a full complement of workers 

in the factory.

1. Only A

2. Only B

3. Only C

4. Both B and C

5. All the correct



IMPERATIVE

(A) An immediate response was imperative at that point.

(B) His imperative departure was making me sad as 

every moment passed.

(C) His imperative demands made us very angry.

1. Only A

2. Only B

3. Only C

4. Both B and C

5. All the correct
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